i3SIXTY 3

Rotating Digital
Flipchart.

50" interactive Display

EEEEEEEEEEEEEE






Important safety information for both installer and user:

Installer:
« Before starting the installation,
read the safety instructions and this product manual carefully.

* Failure to read, thoroughly understand, and follow all instructions can
result in serious personal injury and damage to equipment!

User:
* Please carefully read the below safety information and manual before us-
ing the product to ensure a failure-free working unit and avoid accidents.

The intended use of the product:
+ The product is intended to be used with the matching 50" i3SIXTY 3 inter-
active display only.

+ The camera(s) shown in this document are an optional extra. The camera
has been designed to enhance the functionality of the interactive display.

The product is intended for in-door usage in classrooms, offices or meet-
ing rooms at temperatures between 0 to 40°C (32°F to 104°F).

+ Please make sure the indoor environment is dry and cool.
Normal operating humidity is 10%-90%RH.
Do not use this product in an outdoor environment.

The product is intended to be used by adults; children under the age of 16
should only use the product under adult supervision.

i3SIXTY 3 3



* Connect the unit to a properly grounded outlet only.

* Clean the unit with drycloth only. Do not spray the unit with any liquid.

* Do not overuse the cable(s) or damage it in any other way.

* The mobile base is to be used with the 50" i3SIXTY Display panel only.

* Keep fingers and other body parts away from moving parts.

* Do not dismantle the rotating mechanism.

Electrical Safety

Make sure the unit can be immediately separated from the power outlet.

Only use the unit in dry rooms, protect it from water and other liquids.
The unit does not have dripping or splashing protection.

Replace damaged cable(s) immediately with new identical cable(s).

Disconnect power cable from power outlet before moving the product.

Mechanical Safety

Before moving or rotating the unit, ensure at least 20 cm/ 7.9 inch safety
distance from any part of the unit to any other elements in order to avoid
collision or personal injury.

Severe risk of injury when unit tips over. The maximum slope that the unit
can be used upon is 10°.

It is the installer’s responsibility to make sure the installation has been done
properly. Using it with other screens may result in instability causing tip over
and resulting in death or serious injury!

The installation, maintenance and un-installation of the product should be
operated by trained professional and skilled personnel.

There are no serviceable parts inside.

4



i3SIXTY 3 comes in two boxes:
Box 1: IFPD DISPLAY

Box 2: mobile base. Nv

Camera’s are optional and must be purchased seperately.

HY

14x 4x 3x 4x 4x
M6x16 | M6x16 M4x6 | M8x25 Mé6x14 | 912

e

Content of packaging:
1x right leg, rear, base

1x right leg, rear, top

1x right leg, front

1x left leg, rear, base

1x left leg, rear, top

1x left leg, front

1x tray

1x crossbar

4x castors

3x cable clamps (plastic)
2x wire straps

3x cable bands (Velcro)
1x hardware bag

1x this instruction manual

i3SIXTY 3







i3SIXTY 3 7






i3SIXTY 3 9



0

1




i3SIXTY 3

11




12




13



*Logo ‘i3-TECHNOLOGIES’
should face forward.

+Align holes and insert front

screws left and right.

«Lift the tray and insert the rear

Screws.

Do not tighten yet.

+Align if necessary.

14




I}
il =
s —

'—W/// /

i3SIXTY 3

15



16



i3SIXTY 3 17



18




A
A
A
A
A
)

WARNINGS

BEWARE OF ELECTRICAL SAFETY.

CONNECT TO A GROUNDED POWER OUTLET.
DO NOT OPEN; NO USER SERVICEABLE PARTS
INSIDE.

DO NOT USE THE FLOORSTAND ON AN UNEVEN
FLOOR. THERE IS RISK OF TILTING AND IT MAY
DAMAGE THE PRODUCT.

AT ANY TIME, THE UNIT MUST BE ABLE TO BE
DISCONNECTED FROM MAINS.

KEEP THE MOTION AREA FREE FROM OBJECTS.

KEEP A SAFETY DISTANCE FROM AT LEAST 20CM.

ASSURE INSTALLATION BY COMPETENT PERSON.

ANTI-COLLISION IS TO LIMIT MECHANICAL
DAMAGE. KEEP SAFETY DISTANCE TO PREVENT
PERSONAL INJURY.

FOR INSIDE USE ONLY.

PROTECT FROM WET, SPRAY AND FLUIDS.
CLEAN WITH A MICROFIBER OR DAMP CLOTH.

i3SIXTY 3

19




13-TECHNOLOGIES

www.i3-technologies.com

info@i3-technologies.com

i3SIXTY 3 20240717



